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Psychology
Paper 1I

AT

gyTutseht 11
Time Allowed : 75 Minutes] [Maximum Marks : 100
Note : This Paper contains Fifty (50) multiple choice questions, each question
carrying Two (2) marks. Attempt All questions.
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According to information processing
model, failure to solve a problem is
mostly because of

(1) inefficiency of problem solving
system.

(2) limitations of short-term
memory.

(3) limitations of long-term memory.
(4) problems regarding attention.
(A) 1 and 4 only

(B) 2 and 3 only

(C) 1, 2 and 3 only

(D) 2, 3 and 4 only

Which one of the following
psychologists is associated with the
development of object relations
theory ?

(A) Melanie Klein
(B) Karen Horney
(C) H.S. Sullivan
(D) Anna Freud
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With the repeated practice given to
the student, he improves his
performance because he learns the

task. Here learning is a/an
(A) independent variable.
(B) dependent variable.
(C) intervening variable.
(D) moderator variable.

In a construction of an ability test,
the steps followed in the item

analysis are

(A) item discrimination, item
reliability, item difficulty, item
validity

(B) item reliability, item validity,

item difficulty, item
discrimination
(C) item validity, item

discrimination, item reliability,

item difficulty

(D) item difficulty, item
discrimination, item reliability,

item validity
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Given below are the stages of feature
analysis. Rearrange them in correct
sequence.

(1) Feature detected
(2) Stimulus presented
(3) Pattern recognized
(4) Features combined
A) 2,4,1,3

B) 2, 3,4, 1

) 2,1, 4,3

D) 1, 4, 2, 3

Figures that are incomplete in some
way will be percieved as
an organized whole due to the law
of

(A) similarity
(B) proximity
(C) closure

(D) pragnanz

The model that claims that a
common representational form,
usually consisting of description of
problem, the initial state, the goal
state and a set of strategies work to
solve any and all types of problems
is

(A) information processing model
(B) domain specific model
(C) associationistic model

(D) gestalt model

5.
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(A) 2,4,1,3
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Which one of the following
represents the sequence of events in

learning according to Hull ?

(A) Drive increment, Need state,
Instrumental activity, Drive

decrement

(B) Drive decrement, Need state,
Drive increment, Instrumental

activity

(C) Drive increment, Instrumental
activity, Need state, Drive

decrement

(D) Need state, Drive increment,
Instrumental activity, Drive

decrement

In a survey among engineering
students, each student was asked to
justify  his/her choice of
specialization branch in about sixty
words. This item can be best

considered as an example of
(A) objective test item

(B) projective test item

(C) open-ended item

(D) fixed alternative item
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10. Match List I with List IT and select | 10. ﬁitﬂ 19 *i‘n 1 =Ir=a1 Sresn e et
the correct answer from the codes 5 - o Fr < £

given below :

. qEr 1 (Fehedd)
List I (Concept)

(P) Psychoticism (P) WRREHIEEEH
(Q Big-five (Q ST-rE=
(R) Growth needs (R) T ST
(S) Proprium S) bt

List II (Description)

TG I (FUi)

(1) Employs psycholexical

approach (1) HAHIfeh AT a9
(2) Other word for self (2) ©@: 9= qUU s

(3) Characteristic associated with (3) SHTHA, SFERIAT TH0, 370

aggression, non-confirmity, and ..
set Y HUER AT AR et

tough-mindedness

(4) Self-esteem and self- (4) 3T S0 W SrfafeehLoT

actualization R :
Codes

P Q R S
A) 1 4 2 3
A 1 4 2 3

B) 2 3 1 4
B) 2 3 1 4

—
S
\V]

©3 1 4 2 (€) 3

D 4 2 3 1 D 4 2 3 1
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11. Which one of the following gives

the correct sequence of events
leading to storage of information in

the LTM ?

(A) Semantic encoding, Activation
of sensory cortex, Neural

engram, Hippocampal activation

(B) Hippocampal activation,
Activation of sensory cortex,

Neural engram, Semantic

encoding

(C) Activation of sensory cortex,
Semantic encoding, Hippocampal

activation, Neural engram

(D) Activation of sensory cortex,
Hippocampal activation, Semantic

encoding, Neural engram

11.
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12. Match List I with List IT and select

the correct answer from codes given

below

(P)

Q)
(R)
(S)

(1)

(2)

(3)

List I (Terms)
Incentive
Arousal
Instinct
Drive
List II

(Explanation)

Motivations are produced to
fulfill

requirements.

basic biological

Motivation is the result of an
inborn pattern of behaviour
that is biologically determined.

Motivation is because we try to
maintain increased levels of

physiological activation.

(4) Motivation can be explained in
terms of external reward.

Codes
P Q R S

(A 4 3 1 2

B) 1 2 3 4

C) 4 3 2 1

D) 3 4 1 2
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13.

14.

Myths, religion, art and drama are
important to individual functioning

in Jungian theory because they

(A) help in preconscious acceptance.

(B) are cultural symbols.

(C) help in controlling hostile
impulses.

(D) foster the process of

psychological integration.

When a problem is solved by
identifying subgoals that will
take you closer to final goal, you are

using
(A) hill climbing.

(B) working backwards.

(C) means-End analysis.

(D) analogical transfer.

13.

14.
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15.

16.

According to Maslow’s theory, which
of the following is NOT characteristic

of self-actualized person ?

(A) Freshness of appreciation

(B) Religious attainment

(C) Self-sufficiency

(D) Self-determination

Miiller Lyer illusion is influenced

by

(1) age

(2) education

(3) urban-rural environment
(4) culture

(A) Only 1 and 2
(B) Only 2 and 4
(C) Only 2, 3 and 4

(D) All of the above

15.

16.
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17. Read the following statements and

judge their truthfulness by choosing
correct answer from the alternatives

given below the statements.

(1) IQ tests tend to correlate more

highly with achievement tests.

(2) IQ tests tend to be better

predictors of grades and

achievement test scores in the

lower grades than in college.

(3) There is some evidence that
supports the hypothesis that
continuing education raises 1Q

test scores.
Alternatives
(A) 1 and 2 are correct.
(B) 1 and 3 are correct.
(C) 2 and 3 are correct.

(D) 1, 2 and 3 are correct.
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18.

19.

Surgical removal of hippocampus

affects

(A) LTM.

(B) STM.

(C) procedural memory.

(D) working memory.

Edwards Personal Preference

Schedule employees forced choice

format to reduce

(A)

acquiescence.

(B) socially desirable responding.

18.

19.
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20. Match List I with List IT and select | 20. T I o gt II &= Siedl @

the correct answer using the codes

given below the list.
List I (Term)

(P) Independent variable

(Q) Dependent variable

(R) Control of carry over effects

(S) Control of individual differences
List II (Method/Technique)

(1) Randomization

(2) Counter-balancing

(3) Measurement

(4) Active manipulation

Codes
P Q R S

(A) 4 3 1 2

B) 3 4 2 1

C) 3 4 1 2

D) 4 3 2 1

amfor wreft foeiean Fehdmya arg W
IREEINE
ENENGED
(P) s ufRercd
(Q iy aftecd
(R) {-3feet aitomar fsm
(S) =AfR-der T
Wl T (Tgt/a)
(1) AfrdreRt
(2) Hfd-wger

(3) HIYT

(4) Hfwpa BIdTesu

-
.
-

(A) 4 3 1 2
(B) 3 4 2 1
) 3 4 1 2

D) 4 3 2 1
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21. Which of the following statements

regarding emotion are true ?

(1)

(2)

(3)

(4)

(A)

(B)

(®))

(D)

Experience of emotion is
associated with arousal of

sympathetic nervous system.

One of the important functions
of emotion is to prepare the

being for action.

Left hemisphere is more active
than the right when people
have to identify emotion on

another person’s face.

Right hemisphere is more active
than the left when people have
to identify emotion on another

person’s face.
1, 2 and 3
1, 2 and 4
2,3 and 4

3,4 and 1
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AGAd deel STl TCHuen 37an
e 2Afyes FRYau gl

1, 2 3Tfor 3
1, 2 37T 4
2, 3 offur 4

3, 4 3for 1
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22. Psychologists have developed

23.

research methods to disentangle
hereditory and environmental
factors. Which of the following
methods can serve the purpose ?

(1)
(2)
(3)
(4)

The study of twins
The study of adopted children
The study of ethnic groups

The study of children from
different cultures.

(A)
(B)
©)
(D)

1 and 3 only
1 and 2 only
1 and 4 only
1, 2 and 4 only

Skinner’s conditioning is also called

as instrumental conditioning

because

(A) Skinner  has

instrument, namely ‘Skinner

used an

)

box’.

(B) in Skinner’s experiment. CR is

a means to bring in US.

(C) Skinner’s conditioning is
different from Pavlovian

classical conditioning.

(D) Skinner’s conditioning is used

for behaviour modification.
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24. Consider the following statements

25.

regarding the interval scale

measurement

(1) There is no meaningful zero
point.

(2) A score of 8 is twice as high as
a score of 4.

(3) Scores can be analyzed by
parametric test.

(4) The difference between 5 and
10 need not be same as the
difference between 10 and 15.

Which of the following statements
given above are correct ?

(A) 1 and 3
(B) 1 and 4
(C) 2 and 3
(D) 2 and 4

Which of the following are true in
case of self-concept ?

(1) Self-view includes multiple
selves.

(2) Self-perception process is a
source of self-concept.

(3) Reflected appraisal process is
not a source of self-concept.

(4) Self-concept helps us in shaping
the reasoning.

1 and 2
2 and 4
1, 2 and 3
2, 3 and 4

(A)
(B)
(®);
(D)
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26.

27.

Read the following statements and

select the correct answer.

(I) Night terror is a phenomenon
of NREM.

(IT) Nightmree is a phenomenon of

REM sleep.

(ITI) Night terror is more common

in children.

(IV) REM behaviour disorder is

more common in older people.
(A) I, II, IIT and IV are true.
(B) Only I and II are true.
(C) Only II, IIT and IV are true.
(D) Only I, IT and III are true.

The stages of concept formation

are :

(A)

Generalization and discrimi-

nation

(B) Generalization and evaluation

(©)

Generalization, discrimination

and abstraction

(D) Abstraction, evalution and

generalization

26.

27.
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28. Match List I with List IT and choose

the right answer from the codes

below.

(P)

Q)
(R)
(S)

(1)

(2)

(3)
(4)

(5)

List I (Disorder)
Ataxia

Aphasia
Amnesia
Apraxia
List II

(Description)

Loss of ability to use and

comprehend language

Loss of ability to perform skilled

movements
Loss of motor co-ordination

Loss of ability to recognize a

familiar object

Loss of ability to register and/

or retrieval of information

Codes

P Q R S
(A) 5 1 2 3
B) 3 2 1 4
(C) 2 5 4 1
D) 3 1 5 2
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T 1 (W)

(P) 3referaan
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(1)
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29. Match List I with List IT and select

the correct answer using the codes

given below the lists.
List I (Event)

(P) Imprinting

(Q) Respondent behaviour

(R) Operant behaviour

(S) Higher order conditioning

List II (Description of the

event)

(1) When CR brings in US in

conditioning

(2) When wrapper of a chocolate
becomes CS for the actual

chocolate
(3) When CR is a natural reflex in

conditioning

(4) When the chicks follow their
mother after they are hatched

Codes

P O R s
(A) 4 1 3 2
B) 3 4 1

2
C) 4 3 1 2
D) 2

—
N
w

29. =

FEB — 13213/1II

I 9 gt II "efiad siewn
A F @iold Hehd dO&A T I

ferel.
W T (e

(AN

(P) s
(Q) UfdfshaTcH® o
(R) ATINUMcHE: o

(S) =g Y™
W T (FEAY 9uiA)

(AN

(1) si=gr Afvwfya  gfafwdaqgz
safiEfad SEOe 9| B

(2) Sie@l 9cgel aishaie=dl TaSl
Tlehore ATER0 &1 ATERT SEueh
|l

(8) Srear srfvmama srfvydfua gfafswan
g gfifer gfaay o19q

(4) Jg1 et U Saacad
NIEEN CIRCIRZ G R BRI G

ST
Hehd

P Q R S
A4 1 3 2
B3 2 4 1
©4 3 1 2
®2 1 4 3
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30. In memory, constructive processes

30. TAIdIa T=@ATHS FfwpdA=r dae

are associated with all of the

following except

EeieTdeh] ThUTST dTehI=ARI ST

(A) memorisation. (A) IO
(B) interpretation.
P (B) sreffaeRm
(C) expectation.
(C) sTu&m
(D) organisation.
Instructions for question Nos. 31 (D) e

to 33

Read the following paragraph and
answer the three questions following
it.

Paragraph : A researcher wanted
to develop a new test of sociability.
He prepared a draft version
containing 50 dichotomous items.
Item analysis was carried out by

applying item-remainder corre-

lations. The item analysis resulted

U9 hHIch 31 d 33 WGl go
Tde uRese e eEretd

oA S fora,

ha NI Y

U3 ; Tkl HYNEhIl HHSSIAT

o a a

faerdld HUE=l 3R,

ECIE IR

50 fgursita =m=ofl o= AYRT sHfae.

S

IeH-THeEr 9eueyT daed ==l

gyq favasor &d. IAEII-gIT
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31.

in the deletion of 10 items. The
researcher correlated the item
analyzed version of the test with an
already established test of sociability
and obtained a correlation of 0.28,
significant at .01 level (N = 400). The
odd-even reliability coefficient,
corrected by Spearman-Brown
formula, for the item analyzed

version was found to be 0.42.

Which one of the following
correlation coefficient is suitable for

obtaining item-remainder

correlations ?

(A) Spearman’s rank-difference

correlation
(B) Point-biserial correlation
(C) Phi coefficient

(D) Tetrachoric correlation

31.

FEB — 13213/1II

fIgToum=AT SMER 10 AT Y9 ST

o

. IHa ITEu= TR gEefuq

HHSIYTAT= S=0eeR Hegee higa.

~

el WeHasd ® 0.28 3¢ 0.01

TSR (N = 400) Tiefeh TR, foqerms

3 A e shadr gH-fasm

forgeraf-erat Jones &1 == g faaifta

HECEEl 0.42 gl THaare.

e H-THer weuay fHesfauarard

TICiclush! IVl FeEad e A

TEA ?

(A) THSRETET TUMIRY Heday
(B) fag-fgafrer wegaw

(C) w1 Hegay

(D) IsheH Hedad
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32.

33.

For the new test, there is an

evidence for the

(A) satisfactory parallel form
reliability.

(B) unsatisfactory parallel form
reliability.

(C) satisfactory concurrent
validity.

(D) unsatisfactory concurrent
validity.

Which one of the following
inferences can be drawn for the new

test ?

(A) The test has excellent internal

consistency

(B) The test has satisfactory
internal consistency

(C) The test has poor internal
consistency

(D) The provided data are

inadequate for inferring about

the internal consistency

32.

33.

FEB — 13213/1I1

T AT WTeeTdeh! HeMel REl

fesdt 2

(A) FHTETAHTIS FHTAY w7
fovaafra
(B) TSNS  FHATAY  ®Y

IELEEUERI

(C) GHIYMRNS HHId] ool

(D) AHHIUMHRER THdT Jerdl

EciTeTdeh! IOl fsaRs i S=oiara]

Hedl Jar ?

(A) =r=oi=t @i gETdr & 3™

R,
(B) =TavitEl  Sfand gEAdl &

FHIFRRSG 3.

(C) <r=vitel qfd gamd & e

TR

(D) foorel Yed & STt gerdisod feshe
FHISUIME TR 3TTed.
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34.

Questions 34 to 37

In the following questions, each
question has two statements—
Assertion (A) and Reason (R). Read
each question carefully and decide
whether Assertion and Reason are
individually correct or not, and if
they are correct, whether the Reason
is a valid explanation of the
Assertion. For each question, before
the corresponding question number,
indicate your answer using the

following codes :

(A) Both A and R are true and R

is the correct explanation of A.

(B) Both A and R are true but R

is NOT the correct explanation.
(C) A is true but R is false
(D) A is false but R is true.

Assertion (A) : Each eye sees a
slightly different
view which helps in

perception.

Reason (R) : Retinal disparity
results in three
dimensional

impression.

34.

FEB — 13213/1I1I
99T 34 d 37 :

Wlelid YeMed, Yk Y9 S are
3Med-Tsh faaH  (Assertion or A) 9
%R (Reason or R). U&d@% WA
HlBSqaish o=, faem o o
AU SR 3TTed ohl ATal o XA, 3T
T SR ST R RO ¥ faamr e
TR 3718 1 O STl Yeieh YA

AT AR YIS HIRTIHR TTeiied GehdH

I O] I S,

(A) foom (A) 9 T (R) € 9
3ed 9 SRU (R) 7 faurm dama
TR0 3R,

(B) faam (A) 9 &RU (R) =l 9
(R) 8 90X

3MRd TUT LT

tes i oran M A

(C) faum (A) 9 31€ 99 &R (R)
I e

(D) faum (A) I 3T® 99 FRU (R)
q .

f9gm (A) : & i@ foefaad A
T TG, A HagAT
HEd B

A (R) : gsSrgeardt  fasHdrn
et gfaen fmfor .
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35.

36.

37.

Assertion (A) :

Reason (R)

Assertion (A) :

Reason (R)

Assertion (A) :

Reason (R)

: One

Heuristics are
known to be less
efficient methods of

problem solving.

: Heuristics increase

the odds of finding
path to goal and
does not guarantee

the solution.

Under

conditions, 1.Q. of a

normal
person changes
rapidly throughout

his life span.

: Life span may vary

depending on the
quality of life.

Studies have shown
that continued
conflict deteriorates

physical health.

frequent
of

prolonged stress is

outcome

the production of

gastric ulcers.

35.

36.

317.

fagm (A)

@ (R)

fagm (A)

@ (R)

fagm (A)

=T (R)

FEB — 13213/1I1

TIMH ggdl G-

T ST e Tl

R el Sdld.

IS U= qRTAE e

qgal
Frefaard M0 & S
Ticdes SR W 94,

fggmdat TamHt

wd wmr=g gfifeedia

saFdtEl  qfgons

o

HATTIHUT  STAITATH

SEAI-

STEAT=AT U AR
SHIICHTA CIAG

STEIAAT § TRIael A8
1 gad =1 Tue IR

TETEeATY Bl eheh 3Tl

SEfeRTel| e IRaR
fog@ Jomn Tk 9o
A T .
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38.

39.

40.

In the age group of 25 to 50 years,
certain types of intelligence decline
with age while others do not. Which
of the following is the type that
improves or holds throughout age ?

(A) Fluid intelligence

(B) General intelligence
(C) Crystalized intelligence
(D) Global intelligence

The correlation between two
variables measured in nominal scale
is assessed using :

(A) Contingency coefficient
(B) Spearman’s rank order
correlation

(®)
(D)

Point biserial correlation

Pearson’s product moment
correlation

Which of the following is TRUE
about iconic memory ?

(1)
(2)
(3)
(4)

Has very high capacity
Duration is in milliseconds
Sensory pattern is recognized

Retrieval involves parallel self-
terminating search

(A)
(B)
©)
(D)

1 and 2 only
2 and 3 only
1 and 4 only
2 and 4 only

38.

39.

40.

FEB — 13213/1II

25 d 50 1 AN [, fafdrse g
gy S FAEEd B B T
FRAY Bd ARl Wik I
YhRId ae fohen feemar fewag ?

(A) A E\ji@ﬂﬂl

(B) W= FfgHw

(C) Thich fga

(D) Telad Jfga

AT FUAERT HTYA shdedl §id
Iigataeicl Heusd (Eelicidehl) I
TN weq fAUiRa sen ST ?

(A) AR T[OTh

(B) fouemu=n %yu-9c Tegay
(C) fog-fgdiforr Hegsiu

(D) =1 R IRed deuey

gfqH S Sevid el whIvNd
faam =R e ?

(1) Jiaregei=i &Hd == 379

(2) el fHeidenard ST&!.

(8) 97 TYMN TATYIH 3THd.

(4)

AT THIOY et ST I

Ty ST

1 e 2 ek
2 S 3 e
1 3 4 ek

2 AT 4 wed

(A)
(B)
©)
(D)
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41.

42.

Consider the following types of

investigations :

(1) Field experiment

(2) Laboratory experiment
(3) Ex post facto research

The typical sequential arrangement
of these investigations in descending
order in terms of researchers ability
to control secondary variance would

be
A 1,
B) 2,
C) 2,
D) 3,1, 2

Lateralization refers to

(A) the process of specialization of

brain functions by either the

right or the left hemisphere.

(B) co-ordinated activity of right

and left cerebral hemisphere.

(®);

language dominance as a

function of handedness.

(D) communication between two

cerebral hemispheres.

41.

42.

FEB — 13213/1I1

AT WA YhR A& =
(1) &g 93
(2) TANTIMeSTA  FAT

(3) TAT-UYEd HINEH

TSR G2AH JoRoT=AT =0T gHa=n

Hedld &I GINYAT= Saicdl HHT=E

STIhiHh Faedl &M & ?
(A 1,
(B) 2,
©) 2,

D) 3,

ATATIIE TS

(A) ISt TR Sren Tienataed dg=n
e faersieRTom= fsha.

(B) 3571 9 ST YH{EdSH T

T .

(C) TEYHITAITHR HToM Gord 3.

(D) S YUt TenuiALie T
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43.

44.

What will happen if the lateral

hypothalamus is damaged ?
(A) Binge eating

(B) Oversleeping

(C) Starvation

(D) Sleeplessness

Which of the following is ¢rue in the
case of “all or none” impulse

transmission ?

(1) Impulses are transmitted

through action potentials.

(2) Always leads to post synaptic

excitation.

The neuranal transmission is

3)

bidirectional.

Involves the release of neuro-

(4)
transmitters by the pre-

synaptic neuron.
(A) 1 and 2
(B) 2 and 3
(C) 1 and 4

(D) 1, 3 and 4

43.

44.

FEB — 13213/1II

SR ORI STEYIdTaTTehTd SST Shelt X hid
yeA ?

(A) &fd Sd gHOT @
(B) o1fq S oo

(C) 3UHHR

(D) &tf

‘et o1 T ST ASOTeTed Eeerdeh
T W AR ?

(1) 21T g fwafavargr Afva S,

(2) HEH TAEIh R S AT .

(3) =amuu 7 fg-fofra s

(4) <AEIHRYd AAIIAGR  =ATIRER

e .

(A) 1 e 2

(B) 2 aTfur 3
(C) 1 =11 4

(D) 1, 3 M 4

26


www.studysite.org
www.studysite.org
www.studysite.org
www.studysite.org

45.

46.

47.

Action potential refers to

(A) a phase where neuron is not
sending signal but is potentially

ready to send signal.

(B) imbalance in voltage causeing

a potential difference across cell

membrane.

(C) high electrical activity when a

neuron sends information down

an axon.

(D) potential ability of enzymes to

clear neurotransmitters.

Which one of the following is related

to speech production ?
(A) Angular gyrus
(B) Broca’s area

(C) Wernicke’s area
(D) Frontal lobe

An object seen from different angles
cast different images, but it is still
recognized as being the same. This
is called as

(A) object constancy
(B)
(®)

(D)

shape constancy
size constancy

feature constancy

45.

46.

47.

FEB — 13213/1I1

frafava =urs

(A) ofefl feordt S=g1 =it ghd
qI3ad AHd W Hehd UISauATETa!
LRI

(B) RieeomHidl Wi USfuearer

favarTes wh gedl

(C) Idqere Wifed! rgear fasior
B 3=a foga wfskadr.

(D) FATIRTIHKTAT HT1GT THTATH]

TEmEHEl favdaras el

e Tl Erefierist o Feefd
qe ?

(A) I T
(B) s &
(C) affs= &=

(D) ATES

AT HIAGA gl Sl
fafery afcmn gear, e I g ST

-~

SHIIC]|

Id. AT HE WU ?
(A) =% feerar

(B) ®WR@n feea

(C) SArehrHH et

(D) feio-ereron e
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48.

49.

50.

Which of the following statements
are TRUE about classical
conditioning ?

(1)
(2)

Done on emitted response.

Conditioned stimulus is well
defined.

(3)
(4)
(A)
(B)

Involves voluntary response.
Leads to sign learning.

1 and 2

2 and 3

(C) 1 and 4

(D) 2 and 4

Ebbinghaus wused non-sense
syllables in the experiments to

(A) make the student learn the

difficult items.

(B) compare the performance with

the meaningful words.

(®)

avoid the meaningful material
because it is interesting.

(D) Control the familiarity variable

in the experiment.

Which one of the following
statements is not true of concepts ?

(A)
(B)
©)
(D)

It leads to grouping experiences.
It assists in abstract thinking.
It helps in problem solving.

Once formed, concepts remain
constant.

48.

49.

50.

FEB — 13213/1II

ST I dedid qeierdeh]
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1 afor 2

2 affor 3

(C) 1 smfor 4

(D) 2 awfur 4
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(A) faareaft w3 4gi=m Aeggq
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(B) Aefgem vregi=Al TEde o

HLITS

(C) g difed sk 3T o
HLITES

(D) gara gRfaqar & 9fed fata
HLITS

Hohoyd faoet @it i faum
G I ?

(A) S STIHEE T IIEdrd.

(3)

(4)
(A)
(B)

(B) o7d foaRufshaq = #d sham.
(C) THE THIYM™ 1 Heed hidw.

(D) Uehel fHafor Sorell Hohed  fer
T
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